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< 5,532
Al 20,696,224
HOIZ2 X2l 2el 20,280,215 23,368,050 A 3,087,835
= 195,727
J| 42,869
< 5,532
Al 20,036,087
MEtMg )] HEze 19,699,216 22,819,756 A 3,120,540
= 176,400
J| 42,869
< 2,382
Al 19,477,565
QIZIQIEAIY (MEHIIE =T 28) 17,989,917 20,997,961 A 3,008,044
201 et 133,440 109,240 24,200
01 At 2teltl 34,240 32,240 2,000
O1 gt=&Hl 32,000
DAY INIZ0I & 2cliE 82
15,000, 000& 14 15,000
DHIEAIEN AEH HME(B3E MYIIS
) 15,000, 000°4*1N 15,000
>SASRHIIE ASHE BE44E
2,000,000& =14 2,000
O3 2g=¢ 2,240
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70,0003 *821 x43] 2,240
02 23=24gHl 99,200 77,000 22,200
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207 A RO 20,000 52,000 A 32,000
01 289 20,000 52,000 A 32,000
OFLAUHEAMOIZE A MEHIIE) BIES
15,000, 000& 14! 15,000




SN MR D
o Holg Hel 2o

SHol MEMYD HE PR (el @)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSAER HIIS AN dUEI EF
5,000,000& =14 5,000
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DAEIZE & HOI2 442,000,000 =14l 442,000
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DMYI RUE]] HEXNZ(ARSIAM S 3
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O3 A& &H| |Aldl 10,200
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MEElts HIls 2el4+=HE B2 28,900 28,900 0
206 M = Hl 28,900 28,900 0
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OHEZS, HANEKX 38 100,000 =80 H 8,000
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OMASE S0I2 - II™ 24 A 24 3(
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SEHHE =4l X& 14,827 15,000 A173
= 14,827
301 e A= 14,827 15,000 A173
= 14,827
MIEE243 14,827 15,000 A173
OZsHHE =1 B&d= 14,827,000& 14 14,827
= 14,827
Ssdoty &5 A& 15,000 15,000 0
= 4,500
< 3,150
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402 QI2H X201 M 15,000 15,000 0
= 4,500
< 3,150
Al 7,350
02 QI EAILS EZ (OIS ) 15,000 15,000 0
OsZHJlE =&8% &X 5,000,000& *3H & 15,000
= 4,500
< 3,150
Al 7,350
SASFIHIIS HHE SZH(Zs) 0l 325,305 284,147 41,158
ST SASFHIIES SEH Al 325,305 284,147 41,158
201 L2l 321,281 280,614 40,667
02 =224l 321,281 280,614 40,667
O1 22232 € HA 49,281
DRFID HEEHH sS4z
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OJIz=d&=g Xt &2 M JtE S&HI
4,200 ~60MICH =122 3,024
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el 2 gl 68,087 55,992 12,095
Ol 2| (ME XA D) 68,087 55,992 12,095
101 @124 dl 68,087 55,992 12,095
01 2= 63,019 55,992 7,027
oAt 222 10,003 & 2121 x300 Al 2t 63,019
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Oo&EzZ2Y 5,068
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Jl=&l 65,720 59,024 6,696
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O1 get=2Hl 16,500
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O5 =&l 6,048
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04 NI FAH 4,800 4,200 600
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